Ecopomics 302
Microeramomic Theory
Fall 2008 EF, Dr. Shirley Lin
Midterm Exam |

To reciwva full credit for any quostion, you msst show all necessary work

Math Roview: Lot a, b and e be constanes,
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1. [17] Short answer questions:
(a} 5| Define “Oprimnl Bmedle

Tve best bundle AL (onswmar” con Giford

(b} |¥] A consumer’s preferences for iwn goods can be represented b U {x), 79} = 2y + 55
Suppose gy = 32 and i = B3, and the cossumer bas an inoeaee of mo= 50, How many
ks af goood one woitld this corsicmes choose™ How many units of good teo woukd this
comsumer chocss? Shoor all work
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{c} §5] A consumer oonsumes two goads (r, o) sech that MU > 0 and MUy = 0. This
consumer’s preferences are NOT well-behaved, Explain.  Clearly slale which of the
frur properiies of “mell-beliared” preferences 18 wolated. [ more than one of the proper-
ties are violated, simply choose (VE of vololed properties and show Soew i 8 mickoded.
Additiopally, pou con copstruct eremples and Sor use grephs as gids for gowr ansmer:
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2. |26} Sean enjovs driving and consamees: 1y = (gallons of gasoline) and rg = (3 spent on
everything else). Suppose the price for each gallon of gasoline is 52, and Sean has o weekly

ineome of my = 200,
{n) [1 Graphically (hetrate Sean's Budget Set,  Make sure gon lobel aofl oris, inberoepls,
anl kireks, if oy me
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1] ||,l].! Suppree there is o shortage of gasoline and the government. & considering the fllow-
ing two different. policies for gasolines. Ciraphically illustrate Sean’s bsdget set under ench
of the two policy schemes. Make sre you lnbel all aris, ntenoepds, and binks, of ang.

i Iﬁl A lump =sum tnx of 350 on each consumer.
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il [B] The first 20 gallons of gascline am free. A quantity tee of B1L50 &5 bopased oo

wach gallon of gasoline after the purchase of the 20% pallon,
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B [27] A comsnaner's proforences for two pocls: 1y = |:L1:|;|_:| and £ = (coolies} can be represented
by: Uiy, 2z) = Min{ey, 3oy}, Suppose ihe price for each cup of ten is py = 32, and the price
Tor each eookie & py = ¥1, and the consumer bas an ineome of m = S140,

(&) (5] What type of proforences does this consnmer have?
Perfecr  CompiEnnrds

th) [5] What i this consumer’s opportunity cost of consuming an extra cookie (xg)?

Ji tup of el

(2] [7] Craphically illnsirate all the bundles (), 073 that the consumer prefers equally to the
brumclie (12, 5). Make sure you label ail aris, infervepls, and bnks, if wry
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[rl} [lﬂl Hiwwe TERNY CHfE of e l::;:l dined cookies {.'r;'l woilel this consumer choose?  Derine

pout orwers rigowrousiy,. N CREINT will be given Jor the cormecl answers widhom!
shomng proper mork.
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4. |30 Sam consumes two goodss 1y = [comie books) and 73 = (video gomes). Snm’s preferences
ean be represented by: Oz, 73] = 3oizs Let (pi, pe, 0] denote the price of each eomic book,
& video game, and Sun’s income, respectively. [II needed: MLy = Jo, and MG = 4.

{u) [5] Decive the expression for Ssm's marginel rate of substitution between comic books
and video games (MAES). Stmplify your answer,
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(b} [a] Suppos: Sam is corrantly consuming the Buondle (5, 103, how many vides gumes is
Bnm willing for give up for an edditional comie book, to keep him equally as well-off 7
Numeric Ansuer.
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el [B! Does Sam's prefescnces exhibal “dininkshing marglnal raie of substitubion?  Come
up iith gour oun eramples bo eplom pour aer. VO CREDNT will be qoen for the
warrect answer wilhout! proper erplenabion,
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[k} [ Dresive Sam's demand fanetions for both comic books () (pr, ps, m) ) aod video games
{za(m, pa,m)). Show all proper steps. MO CREDIT will be given for the correct anamers

withaut showing proper work,
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(o) [4] What fraction of Sam's iveome would be chooas o apend oo conle books?



Extra Crodit Question |5 pointa]:

Professor Mitnik's class las the follwing prading seheme, "There are bwe exams in s chass
Let 7y = (Grade on Exam 1) and @y = (Grade on Exam 2). A student's final course gende
ks the weighted average of the two exam grades sich that s weight of 25%, is placed on Exam
L, nnd & weight of 75% is placed oo Exam 2. More specifically, s stodent’s Final Grade =
0,252, + 0.Tars,

Suenn s taking Professor Mitnik's class, She s determined to get the highest final course
gracle possible. Susan decided that she will spend a total of 1000 minutes studying loe tle
twor exnnns. 1 sbe spencds my minies stadying foe Exam 1, hee grada for Exam 1 will be 7,
= b; if she spends my minutes studying for Exam 2, ler grace for Exam 2 will be ry = W
I she spronads no tiooe stadying for either sxam, her grade for that exam will be 0,

Liven that Susan wants te get the highest fual cousse grode possible, and that shie is spending
a totnl of 1000 minates studying for the twe exams, what will be Susnn's final conrse grade?
There are ne partial credits for the ertra credit question.
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